
(8 points : 8 minutes)
You make wood products with glue to fasten joints together.  The manufacturer of a new glue formula 1.
claims that wood joints using the new glue can hold on average 10 pounds more than joints that use
the old formula.  You make 14 joints using the new glue and 11 joints using the old glue, then you
measure how much weight each joint can hold.  Use the results below to test the glue manufacturer's
claim.  (Use a = 0.10 for the test and assume that variation is about the same for both glues.)
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